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1-16: For these questions, choose the best word or 

expression to fill the space. 

 

1.    A strong parent-teacher relationship is of 

paramount importance, but so as to achieve that, 

it is imperative to ensure that both ends ---- each 

other’s perspectives. 

 

       A) disprove  B) appreciate*  

       C) challenge  D) intend  

  E) struggle 

       

2. Organic farming, which has grown noticeably 

over the last years, is gradually taking ----  over 

traditional methods and is becoming more 

sustainable. 

 

      A) precautions  B) confusion  

      C) applications  D) precedence* 

      E) courage   

                                                                                                                                                                  

3. ---- most other fields, media is not what it used to 

be decades ago and has changed substantially 

in many respects from the methods it employs to 

its applications. 

 

A) As from  B) As if   

C) As yet   D) As such 

       E) As with* 

  

4.   An international team of researchers have 

exposed the earliest direct ---- of humans 

processing plants for food in the Africa. 

 

A) evidence**  B) drawback 

C) utilization  D) prospect 

       E) innovation 

 

5.   Many popular diets that are supposed to improve 

your health by helping you lose weight are not 

doing so and they can be particularly ---- to your 

health. 

 

A) apathetic  B) similar 

       C) detrimental** D) convincing 

       E) familiar 

 

 

 

 

6.    In order to get a lot of profits from a business 

enterprise, investors had better keep in mind 

that, in the beginning, they have to ---- a great 

amount of time, effort and money. 

 

A) fill out  B) put in** 

C) call for  D) take up 

E) make out 

 

 

 

 

 

7. We, human beings, with our greedy insistence 

on exploitation of all natural resources, have 

altered the planet Earth ---- even our very 

extinction is considered a real possibility.  

A) in order that 

B) to the extent that 

C) for fear that 

D) so much so that ** 

E) in that 

  

8. Although scientists often care deeply about how 

their discoveries are used, investors or financers 

tend ---- ethical concerns when it comes to what 

---- with scientific knowledge. 

 

A) used / done  

B) being used / being done 

C) to be used / to be done 

D) disregarding / doing 

E) to disregard / to do ** 

 

9.    ---- satellite imagery, researchers catalogued 

almost 2000 glaciers in northern Canada with a 

focus on how they ---- for a decade between 2012 

and 2022. 

A) Having employed / changed**  

B) To employ / change 

C) Employed / have changed 

D) To be employed / had changed 

E) Employing / have been changing 
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10.  Spices had been an important component of 

ancient commerce with a vibrant and 

comprehensive web of providers ---- being 

monopolized   Middle Eastern middleman in the 

15th century. 

 

A) after  B) even if 

C) while  D) unless 

E) before* 

 

 

 

11. Researchers have already devised a way ---- robots 

learn from the behaviour of humans around them 

simply by watching them closely and note any 

obstacles ---- for a longer use. 

 

A) help / to be avoided 

B) to be helped / avoid 

C) helping / avoiding   

D) helped / avoided 

E) to help / to avoid* 

 

 

 

12. Fewer people are engaged ---- traditional farming 

practices in the forested tropics just because rural 

populations are attracted to cities to enjoy the 

benefits --- growing economies better. 

 

A) in / of**  B) to / from 

C) on / by  D) with / for  

E) of / to 

 

 

13. It is disheartening to witness that human beings 

display horrific behaviours that fluctuate 

somewhere between abusive to pure evil ---- the 

accumulation of several millennia of knowledge, 

wisdom and insights. 

 

A) due to  B) in spite of **        

C) such as  D) in addition to 

E) thanks to 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

14. ---- green alternative energy may have a large 

startup fee, in the long run, it is virtually free as 

alternative energy, for the most part, is a self-

sustaining source. 

 

A) Once  B) Until 

C) While**  D) In case        

E) Unless 

 

 

 

15.  The Age of Enlightenment brought ---- profound 

innovations on any imaginable aspect of life in 

Europe ---- it really deserves to be called so. 

 

A) hardly / when B) so / that 

C) whether / or  D) such / that** 

E) not only / but also  

 

 

16. ---- we live in a world where capitalism and 

profits reigns supreme, that most airlines 

prioritize their economic interest rather than the 

safety of the passengers should not come as a 

surprise. 

  

 

A) When  B) Just as 

C) Although  D) Given that**  

E) Unless 
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17-21: For these questions, choose the best word or 

expression to fill the spaces in the passage. 

 

The bottled water industry is growing day by day. Some of 

the factors driving the market are changing lifestyles, 

preference (17) ---- a healthy diet. (18) ----, the ease of 

handling and portability of bottled water can also be added 

to the list. Bottled water manufacturers are introducing new 

products with health benefits. The new products are 

offering functional benefits, convenience (19) ----  better 

taste which are preferred by consumers. The growth of 

plastic bottles has helped the sector globally in the 

widespread (20) ----  of bottled water. These factors are 

expected (21) ---- the growth of the bottled water market 

through a wide network organized markets in the near 

future.  

 

17. 

 

A) to  B) by 

C) for*  D) into 

E) at 

 

 

 

 

 

 

 

18. 

 

A) Otherwise  B) Therefore  

C) Instead  D) However * 

E) Similarly  

19. 

A) despite  B) such as 

C) thanks to  D) due to 

E) as well as * 

 

20.  

A) decrease  B) exploitation  

C) recycle  D) waste 

E) interest  

 

21. 

 

A) boosted   

B) to be boosted 

C) boosting 

D) to boost * 

E) boost 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

  YÖKDİL SOSYAL -  İsmail Turasan 

4 
 
 
 
 

 

 

 

 

 

37-42: For these questions, choose the most 

accurate Turkish translation of the sentences in 

English, and the most accurate English translation 

of the sentences in Turkish. 

37.   In 539 BC., the Persian leader Cyrus the Great 

established racial equality by declaring that 

slaves had the right to choose their own religion. 

 

A) Pers lideri Büyük Kiros, MÖ 539 yılında kölelerin 

kendi dinlerini seçme hakkına sahip olduklarını 

ilan etti ve ırksal eşitliği başlattı. 

 

B) MÖ 539 yılında kölelerin kendi dinlerini seçme 

hakkına sahip olduklarını ilan ederek ırksal eşitliği 

tesis eden Pers lideri Büyük Kiros idi. 

 

C) MÖ 539 yılında, Pers lideri Büyük Kiros, kölelerin 

kendi dinlerini seçme hakkına sahip olduklarını 

ilan ederek ırksal eşitliği tesis etti. 

 

D) MÖ 539 yılında, Pers lideri Büyük Kiros, ırklar 

arasında eşitlikten bahsetmiş ve tüm kölelerine 

kendi dinlerini seçme hakkını tanımıştır. 

 

E) Pers lideri Büyük Kiros, MÖ 539 yılında 

kölelerinin hepsinin kendi dinlerini seçme hakkını 

ve ırkların eşitliği tanımıştır. 

 

38.   Napoleon may have lost the Waterloo battle due to 

the chain of natural events starting with a 

volcanic eruption occurring 13,000 km away. 

 

A) Napolyon, 13.000 km uzaklıktaki bir volkanik 

patlamayla başlayan doğal olaylar zincirinden 

dolayı Waterloo muharebesini kaybetmiş olabilir. 

 

B) Napolyon, 13.000 km uzaklıktaki Waterloo 

muharebesini bir volkanik patlama ile başlayan 

doğal olaylar zincirinden dolayı kaybetmiştir.  

 

C) Napolyon, Waterloo savaşını kaybetmiştir ve 

bunun en büyük sebebi büyük olasılıkla yaklaşık 

13.000 km uzaklıktaki bir volkanik patlamadır. 

 

D) Napolyon’un Waterloo’da yenilmiştir ve bunda, 

13.000 km uzaktaki bir volkanik patlamanın dahi 

rolünün olabileceği söylenmektedir. 

 

E) Napolyon’un Waterloo’da harbi kaybetmesine 

sebep olan olaylar zincirinin başlangıcı, yaklaşık 

13.000 km uzaklıktaki bir volkanik patlamaydı. 

 

 

 

 

 

 

39.    What is wrong about the Nobel Prize is that it is 

based on the idea that literary value can best be 

determined by a small group of specialists. 

  

A) Nobel Ödülü ile ilgili en yanlış olan şey, sadece 

küçük bir uzman grubunun edebi değer denen 

şeyin ne olduğuna karar verebileceği fikridir. 

 

B) Edebi değerin yalnızca, Nobel Ödülü almış olan 

kişiler gibi, az sayıda uzman kişiler tarafından 

belirlenebileceği fikri tamamen yanlıştır. 

 

C) Nobel Ödülü ile alakalı yanlış bir algı varsa o da 

yalnızca küçük bir grubun çoğu eserin edebi 

değeri olup olmadığına karar verdiği fikridir. 

 

D) Yalnızca küçük bir grubun edebi uzmanlık ve 

edebi değerin ne olduğuna karar verebileceğini 

düşünmek belki de Nobel Ödül ile ilgili en yanlış 

fikirdir. 

 

E) Nobel Ödülü ile ilgili yanlış olan şey, edebi 

değerin en iyi küçük bir uzman grubu tarafından 

belirlenebileceği fikrine dayanmasıdır. 

 

 

40.    Sağlığımızı ve davranışlarımızı etkileyebilecek bir 

araç olarak müzik fikri, Aristo ve Platon'un 

eserleri kadar eskidir. 

 

A) The idea of music as a healing device which 

could affect human health and behaviour goes 

back to the works of Aristotle and Plato. 

 

B) The idea that human behaviour and health can 

be manipulated through music can be found in 

the works of Aristotle and Plato. 

 

C) The assumption that music has effects on our 

behaviour, as well as our health, can be found in 

the works of not only Aristotle but also Plato. 

 

D) The idea of music as a healing device that could 

affect our health and behaviours is as old as the 

works of Aristotle and Plato. 

 

E) That both Aristotle and Plato wrote about the 

healing effects of music on our health is known to 

almost anybody who is into music. 
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41. Siyasi gözlemciler, uluslararası arenada güçlü 

olmak için ekonomik mi yoksa askeri gücün mü 

daha gerekli olduğunu uzun zamandır 

tartışmaktadırlar. 

 

A) Whether it is in the political, economic or military 

sense, power is definitely necessary to be an 

active player in the international arena. 

 

B) Political observers have long been debating 

whether economic or military power is more vital 

to be powerful in the international arena. 

 

C) Political observation is as necessary as military 

and economic power to be a powerful state in the 

international arena. 

 

D) Whether military or economic power is more 

fundamental for the states in the international 

arena is debated by political scientists. 

 

E) Political observers have long argued why 

economic power is as important as military power 

in the international arena. 

 

 

42.   Doğum ve çocukluk büyümenin önemli bir parçası 

olsa da çocukluk ve aile hayatı hakkındaki 

görüşlerimiz kayıtlı tarih boyunca değişmiştir. 

 

A) While birth and childhood is an important part of 

growing up, our views of childhood and family life 

have changed throughout recorded history. 

 

B) Both birth and childhood are important parts of 

growth, but our views on childhood and family life 

may have changed throughout recorded history. 

 

C) Despite the changes our views have undergone 

about family, the important parts of growth have 

remained the same throughout recorded history. 

 

D) Although our views about childhood and family 

life have changed throughout recorded history, 

both birth and childhood are still important parts 

of growth. 

  

E) Birth and childhood are parts of growth, but our 

views on childhood and family life have changed 

dramatically throughout recorded history. 
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55. - 58: Answer these questions according to the 

passage below. 

 

Our prehistoric ancestors are often portrayed as savages 

who displayed no civilized behaviour at all, but the earliest 

human societies are likely to have been founded on the 

principle of equality, according to scientists. A recent study 

has shown that in hunter-gatherer tribes, men and women 

had equal influence on where and how their group lived or 

whom they would live with. The findings challenge the 

decades-long view that sexual equality is a recent 

invention, suggesting that it has been the norm for humans 

for most of our evolutionary history. Mark Dyble, an 

anthropologist who led the study at University College 

London, said: “There is still this wide perception that 

hunter-gatherers are more macho or male-dominated. We 

are not ready to adopt the opinion that it was only with the 

emergence of agriculture when people could start to 

accumulate resources, that inequality emerged.” Dyble 

says the latest findings suggest that equality between the 

sexes may have been a survival advantage and played an 

important role in shaping human society and evolution. 

“The equality between the two sexes is one of an important 

part of changes to social organization and it distinguishes 

humans from the rest of the animal kingdom,” he said. 

Sexual equality may have also proved an evolutionary 

advantage for early human societies for it helps foster 

wider-ranging social networks and closer cooperation 

between unrelated individuals. 

 

55. It can be understood from what Mark Dyble says 

that ----. 

 

A) some of our earliest human ancestors may have 

portrayed the societies they lived in as savages 

 

B) the equality between the sexes in hunter-gatherer 

tribes ended with the birth of agriculture 

 

C) equality between the sexes is by far the most 

significant step for the creation of a decent 

society 

 

D) early human societies knew little on how best 

they could benefit from natural resources and 

animals 

 

E) human beings are different from animals in that 

they give equal importance to society and 

evolution 

  

 

 

 

56. According to the passage, the idea of equality ----

. 

A) has always been understood as the equality 

between the members of different groups 

 

B) did not mean the same thing for hunter-gatherer 

tribes as it is for us today  

 

C) had been overlooked until agriculture became the 

main source to meet our food needs 

 

D) is not a new thing as evidence to it can be found 

even in hunter-gatherer tribes 

 

E) is seen central to social life by women in any 

given society all over the world 

 

 

57. It can be inferred from the passage that ----. 

A) equality between the two sexes played an 

important role in humans’ evolution  

 

B) cooperation of the individuals within the same 

society may be harmful without gender equality 

 

C) Mark Dyble finds the way hunter-gatherer men 

treated women rather disturbing 

 

D) inequality has little to do with the switch from a 

hunter-gatherer to an agricultural society 

 

E) a recent invention may help us better understand 

the origins of our evolution 

 

 

58. Until recently it was believed that ----. 

A) a society must be organized in line with the 

wishes of the male members 

 

B) evolution is not a contributor to the development 

of human societies 

 

C) more macho or male-dominated groups are less 

civilized than others 

 

D) anthropologists’ main concern is to identify the 

basis of societal organizations 

 

E) there was no such thing as gender equality in the 

societies of ancient times 
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1 B 21 D 41 B 61 B 

2 D 22 B 42 A 62 A 

3 E 23 A 43 B 63 E 

4 A 24 E 44 C 64 E 

5 C 25 C 45 A 65 C 

6 B 26 E 46 D 66 B 

7 D 27 B 47 E 67 A 

8 E 28 A 48 B 68 D 

9 A 29 E 49 A 69 B 

10 E 30 C 50 B 70 A 

11 C 31 D 51 B 71 D 

12 A 32 E 52 C 72 A 

13 B 33 B 53 A 73 B 

14 C 34 A 54 E 74 E 

15 D 35 C 55 B 75 A 

16 D 36 D 56 D 76 D 

17 C 37 C 57 A 77 C 

18 D 38 A 58 E 78 E 

19 E 39 E 59 D 79 D 

20 B 40 D 60 C 80 A 

 
 


